
Q.1 दिए गए पैटर्न का ध्यानपूर्वक अध्ययन कीजिए और उस संख्या का चयन कीजिए, जो उसमें प्रश्न-चिह्न (?)
को प्रतिस्थापित कर सके ।
पहली पंक्ति: 61, 21, 185
दू सरी पंक्ति: 43, 26, 164
तीसरी पंक्ति: 39, 16, ? 
(नोट: संक्रियाओं का परिचालन संख्याओं को उनके  घटक अंकों  में विभाजित किए बिना, पूर्ण संख्याओं
पर किया जाना चाहिए। उदाहरण के  लिए 13 - 13 पर संक्रियाएँ  जैसे कि जोड़ने/हटाने/गुणा करने आदि
को 13 में किया जा सकता है। 13 को 1 और 3 में तोड़कर और फिर 1 और 3 पर गणितीय संक्रियाएँ
करने की अनुमति नहीं  है)

Ans 1. 144

2. 123

3. 126

4. 156

Question ID : 26433068250
Status : Not Answered

Chosen Option : --

Q.2 सही विकल्प का चयन करें  जो निम्नलिखित शब्दों के  तार्कि क और सार्थक क्रम-विन्‍यास को इंगित करता
है।
1. शाखाएं
2. पत्तियां
3. जड़ें
4. तना
5. फू ल

Ans 1. 3, 1, 4, 2, 5

2. 2, 3, 5, 4, 1

3. 3, 4, 1, 2, 5

4. 3, 4, 2, 5, 1

Question ID : 26433067756
Status : Answered

Chosen Option : 3

Phase X/2022/Selection Posts and Selection Posts/Ladakh/2022
Roll Number
Candidate Name
Venue Name
Exam Date 02/08/2022
Exam Time 9:00 AM - 10:00 AM
Subject Selection Post Phase X Matriculation Level VH

Section : General Intelligence
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Q.3 एक निश्चित कू ट भाषा में, 'TRUMPET' को 'TRMUEPT' के  रूप में लिखा जाता है और 'PICCOLO'
को 'PICCLOO' के  रूप में लिखा जाता है। उसी भाषा में 'BASSOON' को किस प्रकार लिखा जाएगा?

Ans 1. BASOSON  

2. BASSOON 

3. BAOOSSN  

4. BSSOOAN 

Question ID : 26433056375
Status : Answered

Chosen Option : 2

Q.4 उस विकल्प का चयन करें , जो दिए गए शब्दों के  उस सही क्रम का निरूपण करता है, जिस क्रम में वे
अँग्रेजी शब्दकोश में दिखाई देते हैं।
1. Frame
2. Friction
3. Fraction
4. Freight
5. Fragile
6. Freedom

Ans 1. 3, 5, 1, 6, 4, 2

2. 3, 5, 6, 1, 4, 2

3. 3, 5, 1, 4, 6, 2

4. 2, 3, 5, 1, 6, 4

Question ID : 26433056720
Status : Answered

Chosen Option : 1

Q.5 निम्नलिखित में से कौन-सा अक्षर-समूह दी गई शृंखला में प्रश्नवाचक-चिह्न(?) का स्थान लेगा?
CEYS, EIAV, GMCY, ?, KUGE

Ans 1. IRGB

2. IQEB

3. JQEB

4. JRGB

Question ID : 26433056131
Status : Answered

Chosen Option : 2

Q.6 उस विकल्प का चयन करें , जो तीसरे  शब्द से उसी प्रकार संबंधित है, जिस प्रकार दू सरा शब्द, पहले
शब्द से संबंधित है। (शब्दों को अर्थपूर्ण हिंदी शब्दों के  रूप में माना जाना चाहिए और शब्दों को उनमें
अक्षरों  की संख्या / व्यंजनों  की संख्या / स्वरों की संख्या के  आधार पर एक दू सरे  से संबंधित नहीं  किया
जाना चाहिए।) 
सांड (Bull) : गाय (Cow) :: मुर्गा (Cock) : ?

Ans 1.  बतख (Duck)

2.  हिरणी (Doe)

3. चूज़ा (Chick)

4. मुर्गी (Hen) 

Question ID : 26433056584
Status : Answered

Chosen Option : 4
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Q.7 नीचे दो कथन दिए गए हैं, जिनके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों  को सत्य मानते हुए, भले
ही वे सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , यह निर्णय लीजिए कि कौन-सा/से निष्कर्ष
कथनों  का तार्कि क रूप से अनुसरण करता है/करते हैं।
कथन:
कु छ ट्यून, गाने हैं।
सभी ट्यून, मेलोडी हैं।
निष्कर्ष:
I. कोई गाना, मेलोडी नहीं  है।
II. सभी गाने, मेलोडी हैं।

Ans 1. के वल निष्कर्ष I अनुसरण करता है

2. न तो निष्कर्ष I अनुसरण करता है और न ही II अनुसरण करता है

3. के वल निष्कर्ष II अनुसरण करता है

4. निष्कर्ष I और II दोनों अनुसरण करते हैं

Question ID : 26433055228
Status : Answered

Chosen Option : 2

Q.8 उस विकल्प का चयन करें , जो पाँचवें अक्षर-समूह से उसी प्रकार संबंधित है, जिस प्रकार दू सरा अक्षर-
समूह पहले अक्षर-समूह से संबंधित है और चौथा अक्षर-समूह तीसरे  अक्षर-समूह से संबंधित है।
FEUDALS : DUEFSLA :: FREIGHT : IERFTHG :: QUARTER : ?

Ans 1. RACQUET

2. RAUQRET

3. RAUQERT

4. RUAQRET

Question ID : 26433056180
Status : Answered

Chosen Option : 2

Q.9 कौन-सा अक्षर-समूह दी गई शृंखला को पूरा करने के  लिए प्रश्न-चिह्न (?) को प्रतिस्थापित करेगा?
CURE, EXUG, ?, IDAK, KGDM

Ans 1.  GAXI

2.  HCYJ

3.  HMTR

4.  HAXI

Question ID : 26433056236
Status : Answered

Chosen Option : 1ddd.fp
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Q.10 एक कू ट भाषा में, 'MOBILE' को '8$2%£@' लिखा जाता है, 'DRAPE' को '9#+◾@' लिखा जाता है
और 'CRUEL' को '6#3@£' लिखा जाता है। उसी भाषा में 'CRAMP' को कै से लिखा जाएगा?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433055266
Status : Answered

Chosen Option : 3

Q.11 दिए गए समीकरण को सही (संतुलित) बनाने के  लिए किन दो गणितीय चिह्नों  को आपस में बदलना
होगा?
63 – 3 + 45 ÷ 15 × 2 = 36

Ans 1. × और –

2. ÷ और ×

3. + और ×

4. – और ÷

Question ID : 26433056848
Status : Answered

Chosen Option : 4

Q.12 एक निश्चित कू ट भाषा में, 'HAPPY' को 'JBRQA' के  रूप में लिखा जाता है और 'MACRO' को
'OBESQ' के  रूप में लिखा जाता है। उसी भाषा में 'MATES' को कै से लिखा जाएगा?

Ans 1. OBVFV

2. OBWFU

3. OBVGU

4. OBVFU

Question ID : 26433067305
Status : Answered

Chosen Option : 4

Q.13 निम्नलिखित में से कौन-सा अक्षर-समूह दी गई शृंखला को तार्कि क रूप से पूर्ण बनाने के  लिए में प्रश्न-चिह्न
(?) को प्रतिस्थापित करेगा?
PST, MPQ, JMN, GJK, ?

Ans 1. DHG

2. DGH

3. CGH

4. CFG

Question ID : 26433056069
Status : Answered

Chosen Option : 2
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Q.14 नीचे दो कथन दिए गए हैं, जिनके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों  को सत्य मानते हुए, भले
ही वे सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , यह निर्णय लीजिए कि कौन-सा/से निष्कर्ष
कथनों  का तार्कि क रूप से अनुसरण करता है/करते हैं।
कथन:
सभी तख्‍़ ते, लकड़ी हैं।
कु छ लकड़ी, कांच हैं
निष्कर्ष:
I. कु छ तख्‍़ ते, कांच हैं।
II. सभी तख्‍़ ते, कांच हैं।

Ans 1. न तो निष्कर्ष I अनुसरण करता है और न ही II अनुसरण करता है

2. के वल निष्कर्ष I अनुसरण करता है

3. निष्कर्ष I और II दोनों अनुसरण करते हैं

4. के वल निष्कर्ष II अनुसरण करता है

Question ID : 26433055209
Status : Answered

Chosen Option : 1

Q.15 एक निश्चित कू ट भाषा में ‘FREQUENT’ को ‘6-18-5-17-21-5-14-20’ और ‘DANGER’ को ‘4-1-14-7-
5-18’ के  रूप में लिखा जाता है। इसी कू ट भाषा में ‘SOLITUDE’ को किस प्रकार लिखा जाएगा?

Ans 1. 18-15-12-8-20-21-4-5

2. 18-15-12-19-20-21-4-5

3. 19-15-12-9-21-20-4-5

4. 19-15-12-9-20-21-4-5

Question ID : 26433056744
Status : Answered

Chosen Option : 3

Q.16 उस विकल्प का चयन करें , जो उन अक्षरों  को दर्शाता है, जिन्हें निम्नलिखित रिक्त स्थानों  में बाएँ  से दाएँ
क्रमिक रूप से रखे जाने पर दी गई अक्षर-शृंखला पूरी हो जाएगी।
S _ P _ T _ R _ Q T _ R P _ T S _ P Q _

Ans 1. RPSPSQRT

2. RPSPSRPT

3. RQPPSQRT

4. RQSPSQRT

Question ID : 26433056145
Status : Answered

Chosen Option : 4

Q.17 उस विकल्प का चयन करें , जो उन अक्षरों  को दर्शाता है, जिन्हें निम्नलिखित रिक्त स्थानों  में बाएँ  से दाएँ
क्रमिक रूप से रखे जाने पर दी गई अक्षर-शृंखला पूरी हो जाएगी।
P O _ _ Y _ _ I U Y _ O I _ Y P O _ U _

Ans 1. IOPUPOIY

2. UIPOPUIY

3. IUPOPUIY

4. IOPUPUIY

Question ID : 26433056147
Status : Answered

Chosen Option : 3
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Q.18 नीचे दो कथन दिए गए हैं, जिनके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों  को सत्य मानते हुए, भले
ही वे सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , यह निर्णय लीजिए कि कौन-सा/से निष्कर्ष
कथनों  का तार्कि क रूप से अनुसरण करता है/करते हैं।
कथन:
कु छ खेल, खिलौने हैं।
सभी ब्लॉक, खेल हैं।
निष्कर्ष:
I. कु छ ब्लॉक, खिलौने हैं।
II. सभी ब्लॉक, खिलौने हैं।

Ans 1. के वल निष्कर्ष II अनुसरण करता है

2. न तो निष्कर्ष I अनुसरण करता है और न ही II अनुसरण करता है

3. निष्कर्ष I और II दोनों अनुसरण करते हैं

4. के वल निष्कर्ष I अनुसरण करता है

Question ID : 26433055215
Status : Answered

Chosen Option : 2

Q.19 एक निश्चित कू ट भाषा में, 'ABACUS' को 'BCBTVD' और 'GENDER' को 'OFHSFE' लिखा जाता है।
उसी भाषा में 'IMPACT' को कै से लिखा जाएगा?

Ans 1. JBDQNU 

2. QUNJDB 

3. QJNDBU 

4. QNJUDB 

Question ID : 26433056407
Status : Answered

Chosen Option : 4

Q.20 ‘P & Q’ का अर्थ है कि ‘P, Q की बहन है’।
‘P % Q’ का अर्थ है कि ‘P, Q का भाई है’।
‘P $ Q’ का अर्थ है कि ‘P, Q की माता है’।
‘P = Q’ का अर्थ है कि ‘P, Q का पिता है’।
यदि A = B $ C & D % E है, तो D का A से क्या संबंध है?

Ans 1. नाती

2. नवासी

3. पौत्र

4. पौत्री

Question ID : 26433056419
Status : Answered

Chosen Option : 1ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



Q.21 तस्वीर में एक व्यक्ति की ओर इशारा करते हुए, एक पुरुष नरेन ने कहा, "उसकी पुत्री का पुत्र मेरी पुत्री
का भाई है।" वह व्यक्ति नरेन से किस प्रकार संबंधित है?

Ans 1. बहन

2. सास

3. पत्‍नी

4. पुत्री

Question ID : 26433055668
Status : Answered

Chosen Option : 2

Q.22 एक निश्चित कू ट भाषा में 'PEOPLE' को '5' लिखा जाता है और 'ACADEMIC' को '7' लिखा जाता है।
उस भाषा में 'PRESIDENT' को कै से लिखा जाएगा?

Ans 1.  7

2. 8

3. 6

4. 9

Question ID : 26433056574
Status : Answered

Chosen Option : 2

Q.23 एक निश्चित कू ट भाषा में, 'NOVEL' को 'SSYGM' लिखा जाता है, और 'MUSIC' को 'RYVKD' लिखा
जाता है। उसी भाषा में 'ORDER' को कै से लिखा जाएगा?

Ans 1. TVGGS

2. TVGGT

3. TVGHS

4. TVGHT

Question ID : 26433055695
Status : Answered

Chosen Option : 1

Q.24 एक कू ट भाषा में, 'BURPS' को 'DXVUY' लिखा जाता है और 'TARDEN' को 'VDVIKU' लिखा जाता
है। उसी भाषा में 'GUARD' को कै से लिखा जाएगा?

Ans 1. IXEWJ 

2. IYFWK

3. JXFVJ

4. JYEWK

Question ID : 26433055253
Status : Answered

Chosen Option : 1
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Q.25 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) को प्रतिस्थापित करेगी?
16, 18, 24, 36, ?, 86

Ans 1. 56

2. 76

3. 66

4. 46

Question ID : 26433056441
Status : Answered

Chosen Option : 1

Q.1 Select the option that expresses the given sentence in active voice.

The battery of the car has been used by the boy for his games.
Ans 1. The boy has used the battery of the car for his games.

2. The boy used the battery of the car for his games. 

3. The boy was using the battery of the car for his games.

4. The boy might have used the battery of the car for his games.

Question ID : 26433060606
Status : Answered

Chosen Option : 1

Q.2 Select the correct meaning of the idiom in bold and italics.

The scheme says nothing new; it doesn't break new ground.
Ans 1. Out of operational conditions 

2. To do something that you should not be doing 

3. To do something innovative 

4. To look into your own matter 

Question ID : 26433059657
Status : Answered

Chosen Option : 3

Q.3 Select the INCORRECTLY spelt word.
Ans 1. Custom 

2. Strength

3. Promise

4. Polution

Question ID : 26433060635
Status : Answered

Chosen Option : 3

Section : English Language
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Q.4 Select the most appropriate option that can substitute the underlined words in the
given sentence.

In the olden days, most of the groundwater was safe to drink because there was no
contamination from industries or sewage.

Ans 1. potable

2.  useful

3.  vulnerable

4. edible 

Question ID : 26433059723
Status : Answered

Chosen Option : 2

Q.5 Select the most appropriate meaning of the given idiom.

Sit tight
Ans 1. Walk slowly  

2. Sit straight  

3. Wait patiently  

4. Be conscious  

Question ID : 26433060709
Status : Answered

Chosen Option : 4

Q.6 Select the option that expresses the given sentence in direct speech.

The newsreader said that he was there for a heartfelt apology for making such a
comment.

Ans 1. The newsreader said, “I do come here for a heartfelt apology for making such a
comment.”

2. The newsreader said, “I was here for a heartfelt apology for making such a
comment.”

3. The newsreader said, “I have been here for a heartfelt apology for making such a
comment.”

4. The newsreader said, “I am here for a heartfelt apology for making such a comment.”

Question ID : 26433060616
Status : Answered

Chosen Option : 4

Q.7 Select the most appropriate ANTONYM of the given word.

Rarely
Ans 1.  Sometimes

2.  Frequently

3. Seldom

4. Every time

Question ID : 26433060114
Status : Answered

Chosen Option : 4
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Q.8 Select the most appropriate option to fill in the blank.

One should __________ one’s promises.
Ans 1. hide 

2. keep 

3. give 

4. take 

Question ID : 26433059692
Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate option to fill in the blank.

The henna design on her hand was really ________.
Ans 1. solid

2. intricate

3. compatible

4. reversible

Question ID : 26433060087
Status : Answered

Chosen Option : 2

Q.10 Select the most appropriate option to replace the underlined word in the given
sentence.

She is so naïve.
Ans 1. silly

2. illiterate

3. meek 

4. gullible 

Question ID : 26433059997
Status : Answered

Chosen Option : 2

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The ability to laughter is peculiar to mankind.
Ans 1. ability to laugh 

2. ability to laughing 

3. ability to laughable 

4. ability to laughed 

Question ID : 26433059664
Status : Answered

Chosen Option : 1
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Q.12 Parts of the given sentence have been given as options. One of them contains a
spelling error. Select the option that rectifies the error. 

It is important to imediately report a bullying incident to the trusted elders.
Ans 1.  trusted

2. bullying 

3. incident 

4. immediately 

Question ID : 26433059579
Status : Answered

Chosen Option : 4

Q.13 Select the most appropriate synonym of the given word.

Amaze
Ans 1. Astonish

2. Assure

3. Commit

4. Praise

Question ID : 26433060586
Status : Answered

Chosen Option : 1

Q.14 Select the correctly spelt word to fill in the blank.

Geeta was appointed __________ of Physics in a reputed college in Pune.
Ans 1. Profesor

2. Professor

3. Professur

4. Porfessor

Question ID : 26433060517
Status : Answered

Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.

Prejudice
Ans 1. Preconception  

2. Fairness  

3. Prophecy  

4. Influence  

Question ID : 26433060217
Status : Answered

Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At Ferney, Voltaire entered one of the most active (1) _____ of his life. Both patriarch and lord
of the manor, he developed a modern estate, sharing in the movement of agricultural reform
in which the aristocracy was interested at the time. He (2) _______ not be true to himself,
however, without stirring up village feuds before the magistrates on a question of tithes, as
well as about the beating of one of his workmen. He renovated the church and had Deo erexit
Voltaire (3) ________ on the facade. At Easter Communion, 1762, he delivered a sermon on
stealing and drunkenness and repeated this sacrilegious offence in the following year, flouting
the prohibition by the bishop of Annecy, in whose jurisdiction Ferney lay. He meddled in
Genevan politics, taking the side of the workers, and installed a stocking factory and
watchworks on his estate in order to help them. He called for the liberation of serfs in the Jura
but without success, though he did succeed in suppressing the customs barrier on the road
between Gex in the Jura and Geneva, the natural outlet for the produce of Gex. Such
generous interventions in local politics (4) _______ him enormous popularity. In 1777, he
received a popular acclamation from the people of Ferney. In 1815, the Congress of Vienna
halted the annexation of Ferney to Switzerland in his honour.
His fame was now worldwide. ‘Innkeeper of Europe’—as he was called—he welcomed such
literary figures as James Boswell, Giovanni Casanova, Edward Gibbon, the prince de Ligne,
and the fashionable philosophers of Paris. He kept up an (5) ________ correspondence—with
the philosophes, with his actresses and actors, and with those high in court circles, such as
the duc de Richelieu (grandnephew of the cardinal de Richelieu), the duc de Choiseul, and
Mme du Barry, Louis XV’s favourite. He renewed his correspondence with Frederick II and
exchanged letters with Catherine II of Russia.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans 1. period 

2. stretch

3. periods

4. day

Question ID : 26433072011
Status : Answered

Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At Ferney, Voltaire entered one of the most active (1) _____ of his life. Both patriarch and lord
of the manor, he developed a modern estate, sharing in the movement of agricultural reform
in which the aristocracy was interested at the time. He (2) _______ not be true to himself,
however, without stirring up village feuds before the magistrates on a question of tithes, as
well as about the beating of one of his workmen. He renovated the church and had Deo erexit
Voltaire (3) ________ on the facade. At Easter Communion, 1762, he delivered a sermon on
stealing and drunkenness and repeated this sacrilegious offence in the following year, flouting
the prohibition by the bishop of Annecy, in whose jurisdiction Ferney lay. He meddled in
Genevan politics, taking the side of the workers, and installed a stocking factory and
watchworks on his estate in order to help them. He called for the liberation of serfs in the Jura
but without success, though he did succeed in suppressing the customs barrier on the road
between Gex in the Jura and Geneva, the natural outlet for the produce of Gex. Such
generous interventions in local politics (4) _______ him enormous popularity. In 1777, he
received a popular acclamation from the people of Ferney. In 1815, the Congress of Vienna
halted the annexation of Ferney to Switzerland in his honour.
His fame was now worldwide. ‘Innkeeper of Europe’—as he was called—he welcomed such
literary figures as James Boswell, Giovanni Casanova, Edward Gibbon, the prince de Ligne,
and the fashionable philosophers of Paris. He kept up an (5) ________ correspondence—with
the philosophes, with his actresses and actors, and with those high in court circles, such as
the duc de Richelieu (grandnephew of the cardinal de Richelieu), the duc de Choiseul, and
Mme du Barry, Louis XV’s favourite. He renewed his correspondence with Frederick II and
exchanged letters with Catherine II of Russia.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans 1. should

2. could 

3. will

4. can

Question ID : 26433072012
Status : Answered

Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At Ferney, Voltaire entered one of the most active (1) _____ of his life. Both patriarch and lord
of the manor, he developed a modern estate, sharing in the movement of agricultural reform
in which the aristocracy was interested at the time. He (2) _______ not be true to himself,
however, without stirring up village feuds before the magistrates on a question of tithes, as
well as about the beating of one of his workmen. He renovated the church and had Deo erexit
Voltaire (3) ________ on the facade. At Easter Communion, 1762, he delivered a sermon on
stealing and drunkenness and repeated this sacrilegious offence in the following year, flouting
the prohibition by the bishop of Annecy, in whose jurisdiction Ferney lay. He meddled in
Genevan politics, taking the side of the workers, and installed a stocking factory and
watchworks on his estate in order to help them. He called for the liberation of serfs in the Jura
but without success, though he did succeed in suppressing the customs barrier on the road
between Gex in the Jura and Geneva, the natural outlet for the produce of Gex. Such
generous interventions in local politics (4) _______ him enormous popularity. In 1777, he
received a popular acclamation from the people of Ferney. In 1815, the Congress of Vienna
halted the annexation of Ferney to Switzerland in his honour.
His fame was now worldwide. ‘Innkeeper of Europe’—as he was called—he welcomed such
literary figures as James Boswell, Giovanni Casanova, Edward Gibbon, the prince de Ligne,
and the fashionable philosophers of Paris. He kept up an (5) ________ correspondence—with
the philosophes, with his actresses and actors, and with those high in court circles, such as
the duc de Richelieu (grandnephew of the cardinal de Richelieu), the duc de Choiseul, and
Mme du Barry, Louis XV’s favourite. He renewed his correspondence with Frederick II and
exchanged letters with Catherine II of Russia.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans 1. knapped 

2. modelled

3. carved

4. formed

Question ID : 26433072013
Status : Not Answered

Chosen Option : --
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At Ferney, Voltaire entered one of the most active (1) _____ of his life. Both patriarch and lord
of the manor, he developed a modern estate, sharing in the movement of agricultural reform
in which the aristocracy was interested at the time. He (2) _______ not be true to himself,
however, without stirring up village feuds before the magistrates on a question of tithes, as
well as about the beating of one of his workmen. He renovated the church and had Deo erexit
Voltaire (3) ________ on the facade. At Easter Communion, 1762, he delivered a sermon on
stealing and drunkenness and repeated this sacrilegious offence in the following year, flouting
the prohibition by the bishop of Annecy, in whose jurisdiction Ferney lay. He meddled in
Genevan politics, taking the side of the workers, and installed a stocking factory and
watchworks on his estate in order to help them. He called for the liberation of serfs in the Jura
but without success, though he did succeed in suppressing the customs barrier on the road
between Gex in the Jura and Geneva, the natural outlet for the produce of Gex. Such
generous interventions in local politics (4) _______ him enormous popularity. In 1777, he
received a popular acclamation from the people of Ferney. In 1815, the Congress of Vienna
halted the annexation of Ferney to Switzerland in his honour.
His fame was now worldwide. ‘Innkeeper of Europe’—as he was called—he welcomed such
literary figures as James Boswell, Giovanni Casanova, Edward Gibbon, the prince de Ligne,
and the fashionable philosophers of Paris. He kept up an (5) ________ correspondence—with
the philosophes, with his actresses and actors, and with those high in court circles, such as
the duc de Richelieu (grandnephew of the cardinal de Richelieu), the duc de Choiseul, and
Mme du Barry, Louis XV’s favourite. He renewed his correspondence with Frederick II and
exchanged letters with Catherine II of Russia.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans 1. accumulated

2. netted

3. earned 

4. scored

Question ID : 26433072014
Status : Answered

Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

At Ferney, Voltaire entered one of the most active (1) _____ of his life. Both patriarch and lord
of the manor, he developed a modern estate, sharing in the movement of agricultural reform
in which the aristocracy was interested at the time. He (2) _______ not be true to himself,
however, without stirring up village feuds before the magistrates on a question of tithes, as
well as about the beating of one of his workmen. He renovated the church and had Deo erexit
Voltaire (3) ________ on the facade. At Easter Communion, 1762, he delivered a sermon on
stealing and drunkenness and repeated this sacrilegious offence in the following year, flouting
the prohibition by the bishop of Annecy, in whose jurisdiction Ferney lay. He meddled in
Genevan politics, taking the side of the workers, and installed a stocking factory and
watchworks on his estate in order to help them. He called for the liberation of serfs in the Jura
but without success, though he did succeed in suppressing the customs barrier on the road
between Gex in the Jura and Geneva, the natural outlet for the produce of Gex. Such
generous interventions in local politics (4) _______ him enormous popularity. In 1777, he
received a popular acclamation from the people of Ferney. In 1815, the Congress of Vienna
halted the annexation of Ferney to Switzerland in his honour.
His fame was now worldwide. ‘Innkeeper of Europe’—as he was called—he welcomed such
literary figures as James Boswell, Giovanni Casanova, Edward Gibbon, the prince de Ligne,
and the fashionable philosophers of Paris. He kept up an (5) ________ correspondence—with
the philosophes, with his actresses and actors, and with those high in court circles, such as
the duc de Richelieu (grandnephew of the cardinal de Richelieu), the duc de Choiseul, and
Mme du Barry, Louis XV’s favourite. He renewed his correspondence with Frederick II and
exchanged letters with Catherine II of Russia.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans 1. infinite

2. enormous

3. grandiose

4. goodly 

Question ID : 26433072015
Status : Answered

Chosen Option : 2

Comprehension:
Read the given passage and answer the questions that follow.
Lack of moral values, character-building incentives and good cultural values accounts for the
present crisis prevalent in Indian scenario. Today, we find that even the persons in the most
powerful positions have become an accomplice of a corrupt culture even though they are well-
educated and well-reputed for their scholarship. The tragedy is this that even after
independence, Indian society could not lay down the foundations strong enough to evolve an
effective leadership which could give a new direction to the people. The perennial fact still
remains that no system of government can be successful until strong emphasis is placed on
moral values in the society. It can be done through creating a proper climate—an environment
where these values can grow fully and are not stifled in the cruel grasp of corruption.

SubQuestion No : 21
Q.21 Which of the following facts is mentioned in the given passage?
Ans 1. For a successful system of governance, moral values are not essential.

2. Moral and cultural values account for the crisis in Indian society.

3. Government is responsible for the moral and cultural behaviour of people.

4. Lack of effective leadership resulted in the failure of Indian society to provide a new
direction to its people.

Question ID : 26433076144
Status : Answered

Chosen Option : 4

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



Comprehension:
Read the given passage and answer the questions that follow.
Lack of moral values, character-building incentives and good cultural values accounts for the
present crisis prevalent in Indian scenario. Today, we find that even the persons in the most
powerful positions have become an accomplice of a corrupt culture even though they are well-
educated and well-reputed for their scholarship. The tragedy is this that even after
independence, Indian society could not lay down the foundations strong enough to evolve an
effective leadership which could give a new direction to the people. The perennial fact still
remains that no system of government can be successful until strong emphasis is placed on
moral values in the society. It can be done through creating a proper climate—an environment
where these values can grow fully and are not stifled in the cruel grasp of corruption.

SubQuestion No : 22
Q.22 Select from among the given options the most appropriate title for the passage.
Ans 1. Lack of Moral Values

2. Indian Society

3. Cultural System

4. Significance of culture

Question ID : 26433076140
Status : Answered

Chosen Option : 3

Comprehension:
Read the given passage and answer the questions that follow.
Lack of moral values, character-building incentives and good cultural values accounts for the
present crisis prevalent in Indian scenario. Today, we find that even the persons in the most
powerful positions have become an accomplice of a corrupt culture even though they are well-
educated and well-reputed for their scholarship. The tragedy is this that even after
independence, Indian society could not lay down the foundations strong enough to evolve an
effective leadership which could give a new direction to the people. The perennial fact still
remains that no system of government can be successful until strong emphasis is placed on
moral values in the society. It can be done through creating a proper climate—an environment
where these values can grow fully and are not stifled in the cruel grasp of corruption.

SubQuestion No : 23
Q.23 Select the most appropriate synonym for the following word: INCENTIVE
Ans 1. Intensive

2. Strong

3. Inducement

4. Extensive

Question ID : 26433076141
Status : Answered

Chosen Option : 3ddd.fp
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Comprehension:
Read the given passage and answer the questions that follow.
Lack of moral values, character-building incentives and good cultural values accounts for the
present crisis prevalent in Indian scenario. Today, we find that even the persons in the most
powerful positions have become an accomplice of a corrupt culture even though they are well-
educated and well-reputed for their scholarship. The tragedy is this that even after
independence, Indian society could not lay down the foundations strong enough to evolve an
effective leadership which could give a new direction to the people. The perennial fact still
remains that no system of government can be successful until strong emphasis is placed on
moral values in the society. It can be done through creating a proper climate—an environment
where these values can grow fully and are not stifled in the cruel grasp of corruption.

SubQuestion No : 24
Q.24 Select the most appropriate ANTONYM for the following word: PREVALENT
Ans 1. Rare

2. Common

3. Pervasive

4. Nonvalent

Question ID : 26433076142
Status : Answered

Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.
Lack of moral values, character-building incentives and good cultural values accounts for the
present crisis prevalent in Indian scenario. Today, we find that even the persons in the most
powerful positions have become an accomplice of a corrupt culture even though they are well-
educated and well-reputed for their scholarship. The tragedy is this that even after
independence, Indian society could not lay down the foundations strong enough to evolve an
effective leadership which could give a new direction to the people. The perennial fact still
remains that no system of government can be successful until strong emphasis is placed on
moral values in the society. It can be done through creating a proper climate—an environment
where these values can grow fully and are not stifled in the cruel grasp of corruption.

SubQuestion No : 25
Q.25 What is the style used in writing the given passage?
Ans 1. Descriptive

2. Narrative

3. Argumentative

4. Dramatic

Question ID : 26433076143
Status : Answered

Chosen Option : 2
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Q.1 दो उम्मीदवारों  के  बीच हुए एक चुनाव में, 90% मतदाताओं ने अपना मत डाला, जिसमें से 5% मत अवैध
घोषित कर दिए गए। एक उम्मीदवार को 12825 मत मिले, जो कु ल वैध मतों  के  75% थे। उस चुनाव में
नामांकित मतदाताओं की कु ल संख्या ज्ञात कीजिए।

Ans 1. 18000 

2.  20000

3. 15825 

4. 16525 

Question ID : 26433071273
Status : Answered

Chosen Option : 2

Q.2 तीन कारों  की चाल 5 : 4 : 3 के  अनुपात में है। इन कारों  द्वारा समान दू री को तय करने में लिए गए समय
का अनुपात क्या है?

Ans 1. 10 : 12 : 20

2. 12 : 15 : 20

3. 8 : 10 : 12

4. 11 : 15 : 25

Question ID : 26433064910
Status : Answered

Chosen Option : 2

Q.3 0.009 और 0.6 का तृतीयानुपाती _________ है।
Ans 1. 40 

2. 0.54 

3. 36 

4. 0.004 

Question ID : 26433063712
Status : Answered

Chosen Option : 1

Q.4 एक कु र्सी Rs.800 में खरीदी जाती है और Rs.750 में बेच दी जाती है। हानि प्रतिशत ज्ञात कीजिए।
Ans 1. 62.5%

2. 5.25%

3. 7.05%

4. 6.25%

Question ID : 26433064014
Status : Answered

Chosen Option : 4
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Q.5 एक व्यक्ति ₹1,600 में एक सीलिंग फै न खरीदता है और उसे 18% की हानि पर बेचता है। सीलिंग फै न
का विक्रय मूल्य ज्ञात करें।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433063390
Status : Answered

Chosen Option : 1

Q.6 एक कस्बे की वर्तमान जनसंख्या 50,000 है। यदि यह हर वर्ष 6% की दर से बढ़ रही है, और प्रत्‍येक वर्ष
संयोजित होती है, तो दो वर्ष बाद कस्बे की जनसंख्या क्या होगी?

Ans 1. 56280

2. 56080

3. 56180

4. 56000

Question ID : 26433061215
Status : Answered

Chosen Option : 3

Q.7 कॉलेज छात्रसंघ अध्यक्ष के  चुनाव में कु ल 2500 वोट पड़े थे। अक्षित, सुमित और रजनी चुनाव लड़ रहे
थे। कु ल वोटों  का 10% अलग-अलग कारणों  से खारिज कर दिया गया था। अक्षित को सुमित की तुलना
में आधे वोट मिले। अक्षित और सुमित के  वोटों  का औसत रजनी के  वोटों  के  बराबर था। अक्षित को
कितने वोट मिले?

Ans 1. 555

2. 500

3. 600

4. 1000

Question ID : 26433063304
Status : Answered

Chosen Option : 2

Q.8 रमेश एक निश्चित दू री चलकर तय करता है और वापसी में वाहन चलाकर लौटता है, जिसमें उसे कु ल 5
घंटे 45 मिनट का समय लगता है। यदि वह दोनों  तरफ की यात्रा वाहन चलाकर 3 घंटे 30 मिनट में तय
कर सकता है, तो रमेश द्वारा दोनों  तरफ की यात्रा चलकर तय करने में लगने वाला समय ज्ञात कीजिए।

Ans 1. 5 घंटे

2. 6 घंटे

3. 7 घंटे

4. 8 घंटे

Question ID : 26433064995
Status : Answered

Chosen Option : 4
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Q.9

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063288
Status : Answered

Chosen Option : 3

Q.10

Ans 1. 720 

2. 1440 

3. 630 

4. 840 

Question ID : 26433063262
Status : Answered

Chosen Option : 1

Q.11 Rs.41/kg मूल्य-दर वाली चीनी को, Rs.55/kg मूल्य-दर वाली चीनी के  साथ किस अनुपात में मिलाया
जाना चाहिए ताकि मिश्रण का मूल्य Rs.49/kg हो जाए?

Ans 1. 4 : 5

2. 3 : 4

3. 2 : 3

4. 5 : 6

Question ID : 26433063917
Status : Answered

Chosen Option : 2

Q.12 24, 32 और 36 का चतुर्थानुपाती _________ है।
Ans 1. 40

2. 46

3. 48

4. 45

Question ID : 26433064024
Status : Answered

Chosen Option : 3
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Q.13 रमेश ने बाइक पर कु ल 275 km की दू री तय की। पहले तीन घंटों  के  लिए, उसकी चाल 65 km/h थी
और शेष यात्रा के  लिए उसकी चाल घटकर 40 km/h हो गई। बाइक की औसत चाल ज्ञात कीजिए।

Ans 1. 45 km/h

2. 55 km/h

3. 75 km/h

4. 65 km/h

Question ID : 26433064960
Status : Answered

Chosen Option : 2

Q.14 A, B से दुगनी तेजी से कार्य कर सकता है। यदि वे एक साथ एक कार्य को 18 दिनों  में पूरा करते हैं, तो B
अके ला उसी कार्य को कितने दिनों  में पूरा करेगा?

Ans 1. 52

2. 56

3. 54

4. 58

Question ID : 26433064931
Status : Answered

Chosen Option : 3

Q.15 अमित एक काम को 4 दिनों  में पूरा कर सकता है और राजू उसी काम को 6 दिनों  में पूरा कर सकता है।
यदि अमित और राजू दोनों  एक साथ काम करते हैं, तो उन्हें उस काम को पूरा करने में कितना समय
लगेगा?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433061221
Status : Answered

Chosen Option : 1

Q.16 30 से 85 के  बीच कितनी अभाज्य संख्याएं  हैं?
Ans 1. 14

2. 15

3. 12

4. 13

Question ID : 26433063374
Status : Answered

Chosen Option : 3
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Q.17 Rs.400 की धनराशि के  लिए 10% वार्षिक ब्‍याज दर पर 2 वर्षों के  चक्रवृद्धि ब्याज और साधारण ब्याज
के  बीच अंतर ज्ञात कीजिए।

Ans 1. Rs.5

2. Rs.3

3. Rs.1

4. Rs.4

Question ID : 26433063885
Status : Answered

Chosen Option : 4

Q.18 एक निश्चित परीक्षा में 60 छात्रों  द्वारा प्राप्त औसत अंक 35 हैं। यदि ऐसे छात्रों  के  औसत अंक 39 हैं जो
उत्तीर्ण हैं और ऐसे छात्रों  के  औसत अंक 15 हैं जो अनुत्‍तीर्ण हैं, तो उत्तीर्ण छात्रों  की संख्या ज्ञात कीजिए।

Ans 1. 55

2. 50

3. 45

4. 60

Question ID : 26433063847
Status : Answered

Chosen Option : 2

Q.19 किस राशि पर 10% प्रति वर्ष की दर से 2 वर्ष के  लिए साधारण ब्याज और चक्रवृद्धि ब्याज के  बीच का
अंतर Rs.250 होगा?

Ans 1. Rs.20,000

2. Rs.45,000

3. Rs.25,000

4. Rs.35,000

Question ID : 26433061271
Status : Answered

Chosen Option : 3

Q.20 एक छू ट योजना में Rs.4,800 के  अंकित मूल्य पर 35% की छू ट है, लेकिन बिक्री के वल Rs.2,184 पर
तय की गई है। ग्राहक को क्या अतिरिक्त छू ट प्राप्त हुई?

Ans 1. 34%

2. 30%

3. 42%

4. 20%

Question ID : 26433063705
Status : Answered

Chosen Option : 2
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Q.21 एक वर्ग का परिमाप 168 m है। उसका क्षेत्रफल कितना है?
Ans 1. 

2. 

3. 

4. 

Question ID : 26433063901
Status : Answered

Chosen Option : 3

Q.22 सुधीर 13km/h की चाल से दौड़कर एक निश्चित दू री 7 मिनट में तय करता है। पुनः  वह 7 मिनट तक 3
km/h की चाल से चलता है। पूरी यात्रा के  लिए उसकी औसत चाल कितनी है?

Ans 1. 6 km/h

2. 8 km/h

3. 7 km/h

4. 4 km/h

Question ID : 26433063888
Status : Answered

Chosen Option : 2

Q.23 11%, 10% और 30% की क्रमिक छू ट इनमें से किसके  बराबर हैॽ
Ans 1. 43.93%

2. 46.26%

3. 42.93%

4. 56.07%

Question ID : 26433061457
Status : Answered

Chosen Option : 1

Q.24 सरसों  के  तेल का अंकित मूल्य उसके  क्रय मूल्य से 10% अधिक है। इसे अंकित मूल्य से कितने प्रतिशत
कम पर बेचा जाना चाहिए ताकि न तो लाभ हो और न ही हानि हो?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063391
Status : Answered

Chosen Option : 3

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



Q.25 एक चुनाव में के वल दो उम्मीदवार खड़े थे। 20% मतदाताओं ने अपना वोट नहीं  डाला और 1000 वोट
अवैध घोषित कर दिए गए। विजेता ने कु ल वैध वोटों  का 70% प्राप्त करके  अपने प्रतिद्वंद्वी को 1200 वोटों
से हराया। चुनाव में मतदाताओं की कु ल संख्या कितनी थी?

Ans 1. 7000

2. 8000

3. 6000

4. 5000

Question ID : 26433061195
Status : Answered

Chosen Option : 4

Q.1 2019 में, जल संरक्षण मध्यवर्तनों  के  बारे  में जागरूकता और सुधार के  संबंध में जल-बलाघातित जिलों  के
लिए कौन-सा मिशन-मोड जल संरक्षण अभियान शुरू किया गया था?

Ans 1. राष्ट्री य ग्रामीण पेयजल कार्यक्रम

2. जल शक्ति अभियान

3. स्वजल योजना

4. जल जीवन मिशन

Question ID : 26433067143
Status : Answered

Chosen Option : 4

Q.2 रैयतवाड़ी व्यवस्था सबसे पहले ब्रिटिश भारत की निम्नलिखित में से किस प्रेसीडेंसी में शुरू हुई थी?
Ans 1. बॉम्बे

2. मद्रास

3. बंगाल

4. बर्मा

Question ID : 26433065538
Status : Answered

Chosen Option : 3

Q.3 कोलेस्ट्रॉल युक्त भोजन से क्या हो सकता है?
Ans 1. कमजोर हड्डियां और मांसपेशियां

2. मांसपेशीय दुर्विकास

3. हृदय रोग 

4. पागलपन

Question ID : 26433054033
Status : Answered

Chosen Option : 3

Section : General Awareness
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Q.4 सेपाहिजाला वन्यजीव अभयारण्य' निम्न में से किस भारतीय राज्य में स्थित है?
Ans 1. कर्नाटक

2. त्रिपुरा

3. उत्तर प्रदेश

4. मध्य प्रदेश

Question ID : 26433076760
Status : Not Answered

Chosen Option : --

Q.5 पैरालंपिक – 2020 के  शुभंकर प्रतीक का नाम क्या था?
Ans 1. सोमाइटी

2. मिराइतोवा

3. सूहोरांग

4. बिंग ड्वेन ड्वेन

Question ID : 26433054656
Status : Not Answered

Chosen Option : --

Q.6 जनवरी 2022 में भारत के  मुख्य आर्थिक सलाहकार के  रूप में किसे नियुक्त किया गया था?
Ans 1. डॉ वी. अनंत नागेश्वरन

2. कृ ष्णमूर्ति सुब्रमण्यम

3. रघुराम राजन

4. अरविंद सुब्रमण्यम

Question ID : 26433069830
Status : Answered

Chosen Option : 1

Q.7 किस समिति द्वारा पोषण संबंधी आवश्यकताओं के  आधार पर गरीबी का आकलन किया गया था?
Ans 1. तेंदुलकर समिति

2. ठाकु रदास समिति

3. लकड़ावाला समिति

4. अलघ समिति

Question ID : 26433065408
Status : Answered

Chosen Option : 3ddd.fp
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Q.8 भारत सरकार द्वारा शुरू किया जाने वाला 'शताब्दी संकल्प' कार्यक्रम निम्नलिखित में से किस राष्ट्री य पर्व
से संबंधित है?

Ans 1. अम्बेडकर जयंती

2. गांधी जयंती

3. गणतंत्र दिवस

4. स्वतंत्रता दिवस

Question ID : 26433054336
Status : Answered

Chosen Option : 1

Q.9 निम्नलिखित सूफी संतों  में से किसकी दरगाह अजमेर में स्थित है?
Ans 1. अली हुजविरी

2. बहाउद्दीन ज़कारिया

3. मोईनुद्दीन चिश्ती

4. फरीदुद्दीन गंजशकर

Question ID : 26433065525
Status : Answered

Chosen Option : 3

Q.10 फरवरी 2022 में किस राज्य सरकार ने राज्य विधानसभा में एक विधेयक पेश किया, जिसमें सरकारी
परीक्षाओं में प्रश्न-पत्र लीक करने के  दोषी पाए जाने पर 10 साल तक की जेल और 10 करोड़ तक के
जुर्माने का प्रावधान है?

Ans 1. गुजरात

2. राजस्थान

3. मध्य प्रदेश

4. महाराष्ट्र

Question ID : 26433054430
Status : Not Answered

Chosen Option : --

Q.11 प्राचीन भारत में गुप्त शासकों द्वारा निर्मित मंदिरों  में मुख्य देवता की मूर्ति निम्नलिखित में से किस भाग में
स्थापित की गई थी?

Ans 1. मंडप

2. गर्भगृह

3. जगती

4. शिखर

Question ID : 26433065508
Status : Answered

Chosen Option : 2
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Q.12 अग्नाशय के  रस में कौन सा एं जाइम मौज़ूद होता है?
Ans 1. एमिलेज़ (Amylase)

2. पेप्सिन (Pepsin)

3. पित्त (Bile)

4. माल्टेज़ (Maltase)

Question ID : 26433076776
Status : Answered

Chosen Option : 3

Q.13 फरवरी-मार्च 2022 में हुए राज्य विधानसभा चुनावों  में, आम आदमी पार्टी (AAP) ने निम्नलिखित में से
किस राज्य में सरकार बनाई है?

Ans 1. उत्तर प्रदेश

2. गोवा

3. मणिपुर

4. पंजाब

Question ID : 26433069797
Status : Answered

Chosen Option : 4

Q.14 कांग्रेस और मुस्लिम लीग के  बीच हुए निम्नलिखित में से किस समझौते ने हिंदुओं और मुसलमानों  दोनों
के  लिए संयुक्त राजनीतिक अभियान का रास्ता साफ किया?

Ans 1. कै बिनेट मिशन योजना

2. वेवेल योजना

3. पूना समझौता

4. लखनऊ समझौता

Question ID : 26433054289
Status : Answered

Chosen Option : 3

Q.15 धमेख स्तूप भारत के  किस राज्य में स्थित है?
Ans 1. हिमाचल प्रदेश

2. अरुणाचल प्रदेश

3. बिहार

4. उत्तर प्रदेश

Question ID : 26433054350
Status : Answered

Chosen Option : 4
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Q.16 पश्चिमी विक्षोभ के  कारण क्या होता है?
Ans 1. ग्रीष्मकाल के  दौरान भारत के  उत्तर पूर्व भाग में वर्षा 

2. शीतकाल के  दौरान भारत के  उत्तर पश्चिम भाग में वर्षा 

3. ग्रीष्मकाल के  दौरान भारत के  उत्तर पश्चिम भाग में वर्षा 

4. शीतकाल के  दौरान भारत के  दक्षिणी भाग में वर्षा 

Question ID : 26433054052
Status : Answered

Chosen Option : 2

Q.17 संविधान में कितने मौलिक कर्तव्य दिये गये हैं?
Ans 1. 11

2. 9 

3. 12

4. 10

Question ID : 26433054077
Status : Answered

Chosen Option : 1

Q.18 के रल में जन्मे चेमनचेरी कु निरामन नायर एक _________ नर्तक थे।
Ans 1. कु चिपुड़ी

2. कथक

3. कथकली

4. मोहिनीअट्टम

Question ID : 26433054136
Status : Not Answered

Chosen Option : --

Q.19 निम्नलिखित में से कौन-सा त्योहार तमिलनाडु  में प्रमुख रूप से पूजी जाने वाली देवी मीनाक्षी के  विवाह से
जुड़ा है?

Ans 1. पोराग

2. सागा दावा

3. बिहुला

4. चिथिरई

Question ID : 26433054154
Status : Answered

Chosen Option : 3
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Q.20 आईसीसी अंडर- 19 विश्व कप क्रिके ट – 2022 टू र्नामेंट का आयोजन ----------------- में किया गया।
Ans 1. आस्ट्रे लिया

2. इंग्लैंड

3. वेस्ट इंडीज

4. न्यूजीलैंड

Question ID : 26433054673
Status : Not Answered

Chosen Option : --

Q.21 1951 में भारत का लिंगानुपात कितना था?
Ans 1. प्रति 1000 पुरुषों पर 930 महिलाएं

2. प्रति 1000 पुरुषों पर 929 महिलाएं

3. प्रति 1000 पुरुषों पर 943 महिलाएं

4. प्रति 1000 पुरुषों पर 946 महिलाएं

Question ID : 26433065394
Status : Not Answered

Chosen Option : --

Q.22 निम्नलिखित में से कौन-सा विकल्प भारतीय राजनीतिज्ञ लाल कृ ष्ण आडवाणी की आत्मकथा है?
Ans 1. वैंडरिंग इन मैनी वर्ल्ड्स

2. वन लाइफ इज़ नॉट इनफ

3. अनब्रेके बल

4. माई कं ट्री  माई लाइफ

Question ID : 26433054177
Status : Answered

Chosen Option : 2

Q.23 मोहनजोदड़ो के  महान स्नानागार का निर्माण किस सामग्री से किया गया था?
Ans 1. बलुआ पत्थर

2. ग्रेनाइट

3. ईंट

4. संगमरमर

Question ID : 26433054353
Status : Answered

Chosen Option : 3

Q.24 बहाउद्दीन डागर किस वाद्य-यंत्र से संबंधित हैं?
Ans 1. बाँसूरी

2. रूद्र वीणा

3. सितार

4. सरोद

Question ID : 26433054395
Status : Not Answered

Chosen Option : --
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Q.25 मायोपिया को __________ के  रूप में भी जाना जाता है।
Ans 1. दू रदृष्टिता 

2. निकट दृष्टिता  

3. समतल दृष्टिता  

4. दीर्घदृष्टिता  

Question ID : 26433054006
Status : Answered

Chosen Option : 1
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